

# Supporting Information:

## Two-dimensional Raman Spectroscopy of Lennard-Jones Liquids via Ring-Polymer Molecular Dynamics

Zhengqing Tong,<sup>1,2</sup> Pablo E. Videla,<sup>3, a)</sup> Kenneth A. Jung,<sup>3</sup> Victor S. Batista,<sup>3</sup> and Xiang Sun<sup>1,2,4,5, b)</sup>

<sup>1)</sup>Division of Arts and Sciences, NYU Shanghai, 1555 Century Avenue, Shanghai 200122,

China

<sup>2)</sup>NYU-ECNU Center for Computational Chemistry at NYU Shanghai, 3663 Zhongshan Road North, Shanghai 200062,

China

<sup>3)</sup>Department of Chemistry, Yale University, P.O. Box 208107, New Haven, Connecticut 06520-8107,

United States

<sup>4)</sup>Department of Chemistry, New York University, New York, New York 10003, United States

<sup>5)</sup>State Key Laboratory of Precision Spectroscopy, East China Normal University, Shanghai 200062,

China

(Dated: Edited 28 May 2020)

In this Supporting Information, we show the derivation of double Kubo transformation (DKT) formalism for 2D response function expressed in terms of the relative time intervals  $t_1, t_2$ , (different in notations from the original derivation using absolute interaction times  $t, t'$ )<sup>1</sup>.

Without losing generality, the 2D Raman response function can be expressed in fully quantum mechanical form as below<sup>2</sup>

$$R(t_1, t_2) = \left(\frac{i}{\hbar}\right)^2 \text{Tr}(\hat{C}(t_1 + t_2) [\hat{B}(t_1), [\hat{A}(0), \hat{\rho}_{eq}]]) . \quad (1)$$

Here,  $\hat{A}$ ,  $\hat{B}$ , and  $\hat{C}$  are the many-body polarizability  $\Pi$ ,  $\hat{A}(t) = e^{i\hat{H}t/\hbar} \hat{A} e^{-i\hat{H}t/\hbar}$  is the operator evolved in the Heisenberg picture.

Expanding the commutators in Eq. 1, the response function is given by the standard time correlation functions (TCFs),

$$R(t_1, t_2) = -\frac{1}{\hbar^2} [\langle \hat{A}(0) \hat{B}(t_1) \hat{C}(t_1 + t_2) \rangle + \langle \hat{C}(t_1 + t_2) \hat{B}(t_1) \hat{A} \rangle - \langle \hat{A}(0) \hat{C}(t_1 + t_2) \hat{B}(t_1) \rangle - \langle \hat{B}(t_1) \hat{C}(t_1 + t_2) \hat{A}(0) \rangle] . \quad (2)$$

Performing double Fourier transform,

$$\begin{aligned} \tilde{R}(\omega_1, \omega_2) &= -\frac{1}{\hbar^2} [\langle AB(\omega_1)C(\omega_1 + \omega_2) \rangle + \langle C(\omega_1 + \omega_2)B(\omega_1)A \rangle \\ &\quad - \langle AC(\omega_1 + \omega_2)B(\omega_1) \rangle - \langle B(\omega_1)C(\omega_1 + \omega_2)A \rangle] . \quad (3) \end{aligned}$$

In the energy representation  $\hat{H}|n\rangle = E_n|n\rangle$  with the eigenvalue  $E_n = \hbar\omega_n$  and the eigenstate  $|n\rangle$ , the TCFs can be written

by inserting  $\sum_n |n\rangle\langle n| = \hat{\mathbf{1}}$  (with  $\hat{\mathbf{1}}$  the identity operator):

$$\begin{aligned} &\langle \hat{A} \hat{B}(t_1) \hat{C}(t_1 + t_2) \rangle \\ &= \frac{1}{Z} \text{Tr} \left[ \hat{A} e^{\frac{i}{\hbar} \hat{H} t_1} \hat{B} e^{-\frac{i}{\hbar} \hat{H} t_1} e^{\frac{i}{\hbar} \hat{H} (t_1 + t_2)} \hat{C} e^{-\frac{i}{\hbar} \hat{H} (t_1 + t_2)} e^{-\beta \hat{H}} \right] \\ &= \frac{1}{Z} \text{Tr} \left[ e^{-\frac{i}{\hbar} \hat{H} t_1} \hat{A} e^{\frac{i}{\hbar} \hat{H} t_1} \hat{B} e^{\frac{i}{\hbar} \hat{H} t_2} \hat{C} e^{-\frac{i}{\hbar} \hat{H} t_2} e^{-\beta \hat{H}} \right] \\ &= \langle \hat{A}^*(t_1) \hat{B} \hat{C}(t_2) \rangle \\ &= \frac{1}{Z} \sum_{q,r,s} \langle q | \hat{A} | r \rangle \langle r | e^{\frac{i}{\hbar} \hat{H} t_1} \hat{B} | s \rangle \langle s | e^{-\frac{i}{\hbar} \hat{H} t_1} e^{\frac{i}{\hbar} \hat{H} (t_1 + t_2)} \\ &\quad \times \hat{C} e^{-\frac{i}{\hbar} \hat{H} (t_1 + t_2)} e^{-\beta \hat{H}} | q \rangle \\ &= \frac{1}{Z} \sum_{q,r,s} e^{-\beta \hbar \omega_q} e^{i\omega_r t_1} e^{i\omega_s q (t_1 + t_2)} \langle q | \hat{A} | r \rangle \langle r | \hat{B} | s \rangle \langle s | \hat{C} | q \rangle, \\ &\langle \hat{C}(t_1 + t_2) \hat{B}(t_1) \hat{A} \rangle = \langle \hat{C}(t_2) \hat{B} \hat{A}^*(t_1) \rangle \\ &= \frac{1}{Z} \sum_{q,r,s} e^{-\beta \hbar \omega_q} e^{i\omega_r t_1} e^{i\omega_s q (t_1 + t_2)} \langle q | \hat{C} | s \rangle \langle s | \hat{B} | r \rangle \langle r | \hat{A} | q \rangle, \\ &\langle \hat{A} \hat{C}(t_1 + t_2) \hat{B}(t_1) \rangle = \langle \hat{A}^*(t_1) \hat{C}(t_2) \hat{B} \rangle \\ &= \frac{1}{Z} \sum_{q,r,s} e^{-\beta \hbar \omega_r} e^{i\omega_s t_1} e^{i\omega_q s (t_1 + t_2)} \langle r | \hat{A} | q \rangle \langle q | \hat{C} | s \rangle \langle s | \hat{B} | r \rangle, \\ &\langle \hat{B}(t_1) \hat{C}(t_1 + t_2) \hat{A} \rangle = \langle \hat{B} \hat{C}(t_2) \hat{A}^*(t_1) \rangle \\ &= \frac{1}{Z} \sum_{q,r,s} e^{-\beta \hbar \omega_r} e^{i\omega_s t_1} e^{i\omega_q s (t_1 + t_2)} \langle r | \hat{B} | s \rangle \langle s | \hat{C} | q \rangle \langle q | \hat{A} | r \rangle, \quad (4) \end{aligned}$$

where  $\omega_{\alpha\beta} = \omega_\alpha - \omega_\beta$  and  $Z = \text{Tr}[e^{-\beta \hat{H}}]$  is the partition function. Performing double Fourier transform on the above

<sup>a)</sup>Electronic mail: pablo.videla@yale.edu

<sup>b)</sup>Electronic mail: xiang.sun@nyu.edu

TCFs, we have

$$\begin{aligned}
\langle \hat{A}\hat{B}(\omega_1)\hat{C}(\omega_1 + \omega_2) \rangle &= \frac{1}{Z} \sum_{q,r,s} e^{-\beta\hbar\omega_q} \delta(\omega_1 - \omega_{rs} - \omega_{sq}) \\
&\quad \times \delta(\omega_2 - \omega_{sq}) \langle q|\hat{A}|r\rangle \langle r|\hat{B}|s\rangle \langle s|\hat{C}|q\rangle, \\
\langle \hat{C}(\omega_1 + \omega_2)\hat{B}(\omega_1)\hat{A} \rangle &= \frac{1}{Z} \sum_{q,r,s} e^{-\beta\hbar\omega_q} \delta(\omega_1 - \omega_{sr} - \omega_{qs}) \\
&\quad \times \delta(\omega_2 - \omega_{qs}) \langle q|\hat{C}|s\rangle \langle s|\hat{B}|r\rangle \langle r|\hat{A}|q\rangle, \\
\langle \hat{A}\hat{C}(\omega_1 + \omega_2)\hat{B}(\omega_1) \rangle &= \frac{1}{Z} \sum_{q,r,s} e^{-\beta\hbar\omega_r} \delta(\omega_1 - \omega_{sr} - \omega_{qs}) \\
&\quad \times \delta(\omega_2 - \omega_{qs}) \langle r|\hat{A}|q\rangle \langle q|\hat{C}|s\rangle \langle s|\hat{B}|r\rangle, \\
\langle \hat{B}(\omega_1)\hat{C}(\omega_1 + \omega_2)\hat{A} \rangle &= \frac{1}{Z} \sum_{q,r,s} e^{-\beta\hbar\omega_r} \delta(\omega_1 - \omega_{rs} - \omega_{sq}) \\
&\quad \times \delta(\omega_2 - \omega_{sq}) \langle r|\hat{B}|s\rangle \langle s|\hat{C}|q\rangle \langle q|\hat{A}|r\rangle. \tag{5}
\end{aligned}$$

We can then show the relationships between the frequency-domain TCFs by enforcing the Dirac's delta function,

$$\begin{aligned}
\langle \hat{A}\hat{B}(\omega_1)\hat{C}(\omega_1 + \omega_2) \rangle &= e^{\beta\hbar\omega_1} \langle \hat{B}(t_1)\hat{C}(\omega_1 + \omega_2)\hat{A} \rangle, \\
\langle \hat{C}(\omega_1 + \omega_2)\hat{B}(\omega_1)\hat{A} \rangle &= e^{-\beta\hbar\omega_1} \langle \hat{A}\hat{C}(\omega_1 + \omega_2)\hat{B}(\omega_1) \rangle. \tag{6}
\end{aligned}$$

Substituting the above relationships back into Eq. 3, we can have

$$\begin{aligned}
\tilde{R}(\omega_1, \omega_2) &= -\frac{1}{\hbar^2} \left(1 - e^{-\beta\hbar\omega_1}\right) [\langle AB(\omega_1)C(\omega_1 + \omega_2) \rangle \\
&\quad - e^{\beta\hbar\omega_1} \langle C(\omega_1 + \omega_2)B(\omega_1)A \rangle]. \tag{7}
\end{aligned}$$

Assuming  $\hat{A}$ ,  $\hat{B}$ , and  $\hat{C}$  are Hermitian operators that only depend on positions, following the definition of single Kubo transform<sup>3</sup>

$$\langle A; B(t) \rangle = \frac{1}{Z\beta} \int_0^\beta d\lambda \text{Tr} \left[ e^{-(\beta-\lambda)\hat{H}} \hat{A} e^{-\lambda\hat{H}} \hat{B}(t) \right], \tag{8}$$

the DKT correlation function is defined as<sup>4</sup>

$$\begin{aligned}
\langle A; B(t); C(t') \rangle &= \frac{1}{Z\beta^2} \int_0^\beta d\lambda \int_0^\lambda d\lambda' \text{Tr} \left[ e^{-(\beta-\lambda)\hat{H}} \right. \\
&\quad \left. \times \hat{A} e^{-(\lambda-\lambda')\hat{H}} \hat{B}(t) e^{-\lambda'\hat{H}} \hat{C}(t') \right], \tag{9}
\end{aligned}$$

Following the definition of DKT correlation and working in

the energy representation, we have

$$\begin{aligned}
&\langle \hat{A}; \hat{B}(t_1); \hat{C}(t_1 + t_2) \rangle \\
&= \frac{1}{Z\beta^2} \int_0^\beta d\lambda \int_0^\lambda d\lambda' \text{Tr} \left[ e^{\lambda\hat{H}} \hat{A} e^{-(\lambda-\lambda')\hat{H}} e^{\frac{i}{\hbar}\hat{H}t_1} \right. \\
&\quad \left. \times \hat{B} e^{-\frac{i}{\hbar}\hat{H}t_1} e^{-\lambda'\hat{H}} e^{\frac{i}{\hbar}\hat{H}(t_1+t_2)} \hat{C} e^{-\frac{i}{\hbar}\hat{H}(t_1+t_2)} e^{-\beta\hat{H}} \right] \\
&= \frac{1}{Z\beta^2} \int_0^\beta d\lambda \int_0^\lambda d\lambda' \sum_{q,r,s} \langle q|e^{\lambda\hat{H}} \hat{A}|r\rangle \langle r|e^{-(\lambda-\lambda')\hat{H}} e^{\frac{i}{\hbar}\hat{H}t_1} \\
&\quad \times \hat{B}|s\rangle \langle s|e^{-\frac{i}{\hbar}\hat{H}t_1} e^{-\lambda'\hat{H}} e^{\frac{i}{\hbar}\hat{H}(t_1+t_2)} \hat{C} e^{-\frac{i}{\hbar}\hat{H}(t_1+t_2)} e^{-\beta\hat{H}}|q\rangle \\
&= \frac{1}{Z\beta^2} \int_0^\beta d\lambda \int_0^\lambda d\lambda' \sum_{q,r,s} e^{-\beta\hbar\omega_q} e^{i\omega_{rs}t_1} e^{i\omega_{sq}(t_1+t_2)} \\
&\quad \times \langle q|\hat{A}|r\rangle \langle r|\hat{B}|s\rangle \langle s|\hat{C}|q\rangle e^{\lambda\hbar\omega_{qr}} e^{\lambda'\hbar\omega_{rs}}, \tag{10}
\end{aligned}$$

$$\begin{aligned}
&\langle \hat{C}(t_1 + t_2); \hat{B}(t_1); \hat{A} \rangle \\
&= \frac{1}{Z\beta^2} \int_0^\beta d\lambda \int_0^\lambda d\lambda' \sum_{q,r,s} e^{-\beta\hbar\omega_q} e^{i\omega_{rs}t_1} e^{i\omega_{sq}(t_1+t_2)} \\
&\quad \times \langle q|\hat{A}|r\rangle \langle r|\hat{B}|s\rangle \langle s|\hat{C}|q\rangle e^{\lambda\hbar\omega_{qr}} e^{\lambda'\hbar\omega_{rs}}, \tag{11}
\end{aligned}$$

The double Fourier transform of the DKT is defined as

$$\begin{aligned}
\langle A; B(\omega_1); C(\omega_1 + \omega_2) \rangle &\equiv \mathcal{F}[\langle A; B(t_1); C(t_1 + t_2) \rangle] \\
&= \int_{-\infty}^{\infty} dt_1 \int_{-\infty}^{\infty} dt_2 e^{-i\omega_1 t_1 - i\omega_2 t_2} \langle A; B(t_1); C(t_1 + t_2) \rangle \tag{12}
\end{aligned}$$

Performing double Fourier transform on the above DKT correlation functions, the DKT can be shown to be related to standard correlation function  $\langle AB(t_1)C(t_1 + t_2) \rangle$  in the frequency domain:

$$\begin{aligned}
&\langle \hat{A}; \hat{B}(\omega_1); \hat{C}(\omega_1 + \omega_2) \rangle \\
&= \frac{1}{Z\beta^2} \int_0^\beta d\lambda \int_0^\lambda d\lambda' \sum_{q,r,s} e^{-\beta\hbar\omega_q} \delta(\omega_1 - \omega_{rs} - \omega_{sq}) \\
&\quad \times \delta(\omega_2 - \omega_{sq}) \langle q|\hat{A}|r\rangle \langle r|\hat{B}|s\rangle \langle s|\hat{C}|q\rangle e^{\lambda\hbar\omega_{qr}} e^{\lambda'\hbar\omega_{rs}} \\
&= \frac{1}{\beta^2} \int_0^\beta d\lambda \int_0^\lambda d\lambda' e^{-\lambda\hbar\omega_1} e^{\lambda'\hbar(\omega_1 - \omega_2)} \mathcal{F}[\langle \hat{A}\hat{B}(t_1)\hat{C}(t_1 + t_2) \rangle] \\
&= F(-\omega_1, \omega_1 - \omega_2) \langle \hat{A}\hat{B}(\omega_1)\hat{C}(\omega_1 + \omega_2) \rangle, \tag{13}
\end{aligned}$$

$$\begin{aligned}
&\langle \hat{C}(\omega_1 + \omega_2); \hat{B}(\omega_1); \hat{A} \rangle \\
&= \frac{1}{Z\beta^2} \int_0^\beta d\lambda \int_0^\lambda d\lambda' \sum_{q,r,s} e^{-\beta\hbar\omega_q} \delta(\omega_1 - \omega_{sr} - \omega_{qs}) \\
&\quad \times \delta(\omega_2 - \omega_{qs}) \langle q|\hat{C}|s\rangle \langle s|\hat{B}|r\rangle \langle r|\hat{A}|q\rangle e^{\lambda\hbar\omega_{qs}} e^{\lambda'\hbar\omega_{sr}} \\
&= \frac{1}{\beta^2} \int_0^\beta d\lambda \int_0^\lambda d\lambda' e^{\lambda\hbar\omega_2} e^{\lambda'\hbar(\omega_1 - \omega_2)} \mathcal{F}[\langle \hat{C}(t_1 + t_2)\hat{B}(t_1)\hat{A} \rangle] \\
&= F(\omega_2, \omega_1 - \omega_2) \langle \hat{C}(\omega_1 + \omega_2)\hat{B}(\omega_1)\hat{A} \rangle. \tag{14}
\end{aligned}$$

where

$$\begin{aligned}
F(\omega, \omega') &= \frac{1}{\beta^2} \int_0^\beta d\lambda \int_0^\lambda d\lambda' e^{\lambda\hbar\omega} e^{\lambda'\hbar\omega'} \\
&= \frac{1}{\beta^2\hbar^2} \left[ \frac{e^{\beta\hbar(\omega+\omega')}}{\omega'(\omega+\omega')} - \frac{e^{\beta\hbar\omega}}{\omega'\omega} + \frac{1}{\omega(\omega+\omega')} \right]. \tag{15}
\end{aligned}$$

Similarly, we also can get the below relations

$$\begin{aligned}
\langle \hat{B}(\omega_1); \hat{C}(\omega_1 + \omega_2); \hat{A} \rangle &= F(\omega_1 - \omega_2, \omega_2) \\
&\quad \times \langle \hat{B}(\omega_1) \hat{C}(\omega_1 + \omega_2) \hat{A} \rangle, \\
\langle \hat{C}(\omega_1 + \omega_2); \hat{A}; \hat{B}(\omega_1) \rangle &= F(\omega_2, -\omega_1) \\
&\quad \times \langle \hat{C}(\omega_1 + \omega_2) \hat{A} \tilde{\hat{B}}(\omega_1) \rangle, \\
\langle \hat{B}(\omega_1); \hat{A}; \hat{C}(\omega_1 + \omega_2) \rangle &= F(\omega_1 - \omega_2, -\omega_1) \\
&\quad \times \langle \hat{B}(\omega_1) \hat{A} \hat{C}(\omega_1 + \omega_2) \rangle, \\
\langle \hat{A}; \hat{C}(\omega_1 + \omega_2); \hat{B}(\omega_1) \rangle &= F(-\omega_1, \omega_2) \\
&\quad \times \langle \hat{A} \hat{C}(\omega_1 + \omega_2) \hat{B}(\omega_1) \rangle. \quad (16)
\end{aligned}$$

It can be verified that

$$\begin{aligned}
F(-\omega_1, \omega_1 - \omega_2) &= e^{-\beta \hbar \omega_1} F(\omega_1 - \omega_2, \omega_2) \\
&= e^{-\beta \hbar \omega_2} F(\omega_2, -\omega_1), \\
F(\omega_2, \omega_1 - \omega_2) &= e^{\beta \hbar \omega_1} F(\omega_1 - \omega_2, -\omega_1) \\
&= e^{\beta \hbar \omega_2} F(-\omega_1, \omega_2). \quad (17)
\end{aligned}$$

Then, we express the response function in terms of DKT by applying Eq. 14 in Eq. 7:

$$\begin{aligned}
\tilde{R}(\omega_1, \omega_2) &= Q_1(\omega_1, \omega_2) \langle A; B(\omega_1); C(\omega_1 + \omega_2) \rangle \\
&\quad + Q_2(\omega_1, \omega_2) \langle C(\omega_1 + \omega_2); B(\omega_1); A \rangle,
\end{aligned}$$

where

$$\begin{aligned}
Q_1(\omega_1, \omega_2) &= -\frac{1}{\hbar^2} \frac{(1 - e^{-\beta \hbar \omega_1})}{F(-\omega_1, \omega_1 - \omega_2)} \\
&= -\frac{1}{\hbar^2} \frac{(1 - e^{-\beta \hbar \omega_1}) \omega_1 \omega_2 (\omega_1 - \omega_2)}{e^{-\beta \hbar \omega_1} \omega_2 - e^{-\beta \hbar \omega_2} \omega_1 + \omega_1 - \omega_2}, \quad (18)
\end{aligned}$$

$$\begin{aligned}
Q_2(\omega_1, \omega_2) &= \frac{1}{\hbar^2} \frac{(1 - e^{-\beta \hbar \omega_1}) e^{\beta \hbar \omega_1}}{F(\omega_2, \omega_1 - \omega_2)} \\
&= \frac{1}{\hbar^2} \frac{(e^{\beta \hbar \omega_1} - 1) \omega_1 \omega_2 (\omega_1 - \omega_2)}{e^{\beta \hbar \omega_1} \omega_2 - e^{\beta \hbar \omega_2} \omega_1 + \omega_1 - \omega_2}. \quad (19)
\end{aligned}$$

It can be verified that  $Q_1(\omega_1, \omega_2) = Q_2(-\omega_1, -\omega_2)$ .

Introducing

$$Q_+(\omega_1, \omega_2) = [Q_1(\omega_1, \omega_2) + Q_1(-\omega_1, -\omega_2)]/2, \quad (20)$$

$$Q_-(\omega_1, \omega_2) = [Q_1(\omega_1, \omega_2) - Q_1(-\omega_1, -\omega_2)]/2, \quad (21)$$

the frequency domain response function  $\tilde{R}(\omega_1, \omega_2)$  can be rewritten in terms of symmetric and asymmetric parts, which is quantum mechanically exact:<sup>1</sup>

$$\begin{aligned}
\tilde{R}(\omega_1, \omega_2) &= Q_+(\omega_1, \omega_2) \tilde{K}_{ABC}^{sym}(\omega_1, \omega_2) \\
&\quad + Q_-(\omega_1, \omega_2) \tilde{K}_{ABC}^{asym}(\omega_1, \omega_2).
\end{aligned}$$

where  $\tilde{K}^{sym}(\omega_1, \omega_2)$  and  $\tilde{K}^{asym}(\omega_1, \omega_2)$  are the double Fourier transforms of symmetric and asymmetric DKT correlation functions

$$\begin{aligned}
K^{sym}(t_1, t_2) &= \langle A; B(t_1); C(t_1 + t_2) \rangle + \langle C(t_1 + t_2); B(t_1); A \rangle \\
&= 2 \operatorname{Re} [\langle A; B(t_1); C(t_1 + t_2) \rangle], \quad (22)
\end{aligned}$$

$$\begin{aligned}
K^{asym}(t_1, t_2) &= \langle A; B(t_1); C(t_1 + t_2) \rangle - \langle C(t_1 + t_2); B(t_1); A \rangle \\
&= 2i \operatorname{Im} [\langle A; B(t_1); C(t_1 + t_2) \rangle]. \quad (23)
\end{aligned}$$

## REFERENCES

- <sup>1</sup>K. A. Jung, P. E. Videla, and V. S. Batista, *J. Chem. Phys.* **148**, 244105 (2018).
- <sup>2</sup>S. Mukamel, *Principles of nonlinear optical spectroscopy* (Oxford University Press, New York, 1995).
- <sup>3</sup>R. Kubo, *J. Phys. Soc. Jpn.* **12**, 570 (1957).
- <sup>4</sup>D. R. Reichman, P.-N. Roy, S. Jang, and G. A. Voth, *J. Chem. Phys.* **113**, 919 (2000).